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5m

LC−C ≈ 66.42m
f = 2.25MHz

100 nrad
≈ 10 rad

Rm ≈ 20 km

tC ≈ 100 m

Ec = 6.95 keV
∆ΘDW ≈5mrad

Θin = 4.38

tC ≫100 m

TB = 30K

TB = 77K

30W

Ec = 6.95 keV

Ec = 6.95 keV

fUS = 44m

fDS = 36m

fDS = fUS ∈ 30m 90m

Q = 250 pC

Î ≈ 5 kA





TC

66.42m 100 m 77K
σrms
h

37m 44m 280 m× 280 m ∆Θx = ∆Θy =100nrad 1.5 nm

6.95 keV

Eph keV

Qpulse mJ ∼

σEph
meV ∼

σt fs ∼

σtσω ∼

J ∼

B 9.9(1)× 1034 5.4(6)× 1033 ∼3× 1033
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√

π
2
DEph,MAD

J

J = 1

#Phot/s/mm2/mrad2/0 1%
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tC ≈ 250 mto500 m



Qp ≈70mJ

ρ 3 cm
A,B

C −1




